Calcul réfléchi
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L'addition des décimaux Date :
} Calcule sans poser |'opération.
{ N\ 3
. 33+003= 71+0,01=
( ) 5,21+ 0,03 = 11,08 + 0,01 =
2,09 +0,03 = 1353 + 0,01 =
t’% D 840,03 = 5,09 + 0,01 =
|
P A | 012+003- ) (19999+001= 1
“L
- _ompléte les suites.
L |22 225 255 °]
1506 5,86 6,06 6,86 |
omplete les égalités.
- ) _ U e
|
{Q32+ =1 0,73 + =1 | 0,27 + =1
+0,85=1 055 + =1 | 0,92 + =1 |
0091 + =1 4037 =1 T =
004+ =1 089+ =

ule sans poser |'opération.

204 + 2,05 =

14+6,2= _5 7,1+0,01 =
36+ 17,4 = ? 89,35 + 1,21 =

6,25+ 3,75 =




